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FOUNDATION OF COMPUTER & INFORMATION TECHNOLOGY·
(MLS -103)

Duration: 3Hrs. Full Marks: 70
Part-A (Objective) =20

Part-B (Descriptive) =50

(PART-B: Descriptive)

Duration: 2 hrs. 40 mins. Marks: 50

Answer any four from Question no. 2 to 8
Question no. 1 is compulsory.

1. What are the implicationsofICT on modern libraries? Describe in details. (10)

2_ What is a computer? What are the different types of computer? Explain the main

characteristics of a computer. "(2+3+5=10)

3. Explain briefly what you understand by the expression 'computer generations'. (I 0)

4. Describe the basic components ofa modern computer system and explain their role

in its working. (5+5=10)

5.·Briefly explain the.significance of different types of computer storage media and

. indicate their use. (5+5=10)

(5x2=10)6. Write short notes (any two):

a) Number system

b) Classification of computer

.c) IP Address

7. Disc~s different types. of Network Top~logies with suitable exampl~s. . (10)

8.. What is Internet? Briefly explain history and growth of Internet. (2+8=10):
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(PART A - Objective Ty/Pf}

I. Choose the mmrtWt~er: lx20=20

1. Which of~ irlUf);wiimt,g is NOT one of the four majm Gam~1'0.~~g4lfuf.~ilGl1sof a
computer?
A. Gathering m'ta
B. Processi~~ ~ information
C. Analyzil1ng~4i*@!" information
D. Storing the 4et:a,Minformation

2. Computers §ab'f .Ii~ which means that they allot ' RB~FS·m -data.
A. present B. input
C. output D. store

3. The term bit iE '~htllN:'fu.r:
A. megabyte B. binary language
C. binary d~ D. binary number

4. DNS in ~t~logy stands for
A. Dynamic Name System
C. Distribmm1,~ame System

5. Who desigd.tl«~~ad engine?
A. Charles~~ge B. Pascal
C. James W~ D. Boyl .

6. Which ~er~~tem ~ usually followed in a typiQl,1:!~it~~?
A.2 13.'f8 . C. 10 "D. 16.

B. Domain Name~:S1'em
D. None of'tbese

7. Which <me·~f~1lh.e·f~iW-wingis an'example of Opem.ttm,g~
A. Micromlt W,'Bm B. Microsoft Excel

. C. Microsoft A~ D. Microsoft Windows

, .8. Which one ~ffhe ;~tt)"Wing 'represents the binary eqa;iiw~t'w'j[~&6.im{ahnmnber 23?
A. 01011 '
C.10011

B. 10111
'D. None of the above

9'. Where does aRtI~tf~mteradd and compare its data?
A. CPU : B -.Memory .

,'C."Harddisik' "lOt Floppy disk
.... •.•."':'-"""~!'..'!li:c's sec.:zccrj . _asscL~":""··-'· "'~~'!'~~~:"'!"_:!':,:" ..•~..". ''''''': •.•.~~~~~~-.-' ••.,.~..:.~~:'"'!:"3~.· .•:-.· ..• ,.~ ••...!!"~~~
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(J.-iOG.lJ.1f).tlterS:Dfl.an internet are identified ;
A. e-:maii.>ad&ess B. street address
C_Wambess D. None of the abo ;e

Il~Whiohmthe mUnwing is not purely 0

A. Sereea B. Printer
C.' poolIDr D. Plotter

I .:' -;chis n.(it.a~puter classification?
. m~iimne B. maxframe

C. mimi D. notebook

IB.A U01~'{iffi ~ related instructions organid lfu-F'!a~"l'O.tl<pl!lrpooe isrnifeM'..eG'w as
A. Fi~e B. Database .
c.~ D. None of above

i~.S~ can beasalog or digital and a co~ Jft"IJme.essestheb(Jfb~rof&gnals is
Im.awnas
A. I&nal~ computer
C. Ryb.Iid Computer

B. Digitaler
D. Mainframe ~

'§_Whidh't)flmpaft~T is the biggest player in mi~m~r~~'1'?
A. ~.ala B. IBM C. ~el C. A'MID

1'6.. -' .. ' ' :8mGesg:-mg Unit is combination <»f
fA. C'ii>mml.mld storage .Qmlm6'l~:C~8iJm unit
c. AT4~C ~g.icand input unit D. ~fc.,.c.I:lnl £fJnttrll....t

IV_f'~geaeI'a.tian computer is also known as
A. ~edge ieformation processing S} em
iB_Vell' ~ scaie integration (VLSI)
C. '~11 rOfabm,:e
U}. " mat>we

£. -s ~ed a 'direct entry input
. A.~'soo ·ei Bi Mouse s

C " .lpell D. All ofthe~1f.e

. ~ ,', ". - ~tocreate
A.liIoomne ~e program .
C_ 'ebfl~

B; bighio1.· ii~",~~
D. w ~E£r

. f:*.
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